
天津源泰德润钢管制造集团有限公司
Tianjin Yuantai Derun Pipe Manufacturing Group Co., Ltd 

Tel: 008622- 58951960/58951961/58951962 
Fax : 008622- 58951959 
Ad: Daqiuzhuang industria l zone Tianjin China 
Email : sales@ytdrgg.com 
Web : http://www.ytdrgg .com 

源泰德润

久哼；~.衍生讯问笔钊在总白先 陆传号

中国生产规模最大的焊接方矩铜管制造集团

中国民营企业500强
T。p 500 Private Enterprises in China 

中国制造业500强
Top 500 Manufactu川、g Enterprises in China 

中国金属材料流通协会方矩管分会会长单位
Chai『man unit of Hollow Sectl。n Branch 。fChina Natl。nal Ass。clatl。n of Metal Material Trade 



  

 
FACTORY PRODUCTION CONTROL CERTIFICATE 
In compliance with the requirements of BC1:2012 and the 

Building and Construction Authority, Singapore 
 

 

  

 

 

 

 

Lloyd’s Register Verification Limited (Reg. no. 4929226) is a limited company registered in England and Wales. Registered office: 71 Fenchurch Street, London, EC3M 4BS, UK. A subsidiary of Lloyd’s Register Group Limited.  
Lloyd's Register Group Limited, its affiliates and subsidiaries and their respective officers, employees or agents are, individually and collectively, referred to in this clause as the 'Lloyd's Register'. Lloyd's Register assumes no responsibility and 
shall not be liable to any person for any loss, damage or expense caused by reliance on the information or advice in this document or howsoever provided, unless that person has signed a contract with the relevant Lloyd's Register entity for 

the provision of this information or advice and in that case any responsibility or liability is exclusively on the terms and conditions set out in that contract. 
 

Page 1 of 4 

 

This is to certify that the Factory Production Control System of: 

 

Tianjin Yuantaiderun Pipe Manufacturing Group Co., Ltd.  
Tianjin Yuantaiderun International Trade Co., Ltd.  

 

In the production facility located at: 

 

Industrial area, Daqiuzhuang Town, Tianjin City,  
No.2, Science and Technology Road, Industrial Area,  

Daqiuzhuang Town, Jinghai Section, Tianjin City, 
People’s Republic of China 

 

 
has been assessed against the Factory Production Control requirements of BC1:2012  

and conforms to the requirements for the production of: 

  Manufacture of Square and Rectangular Hollow Sections 

This certificate is only valid when accompanied by a current schedule with the same number  
detailing the product standards, material grades and other details corresponding to this approval. 

 

Approval is subject to the continued surveillance of the management system in accordance with  
the requirements of BC1:2012.  Unauthorised changes to the management system will render  

this approval invalid. 
 

 

 

Certificate Number: BJG6023851/A 
 

 

Original Approval Date: 14 November 2019 

 

 

Current Issue Date: 17 July 2020 

 

 

Expiry Date: 13 November 2022 
 

 

 

                                                                                                    
                            _______________________________________________ 
                            Amanda Wu on behalf of Lloyd's Register Verification 



  

 
FACTORY PRODUCTION CONTROL CERTIFICATE 
In compliance with the requirements of BC1:2012 and the 

Building and Construction Authority, Singapore 
 

 

  

 

 

 

 

Lloyd’s Register Verification Limited (Reg. no. 4929226) is a limited company registered in England and Wales. Registered office: 71 Fenchurch Street, London, EC3M 4BS, UK. A subsidiary of Lloyd’s Register Group Limited.  
Lloyd's Register Group Limited, its affiliates and subsidiaries and their respective officers, employees or agents are, individually and collectively, referred to in this clause as the 'Lloyd's Register'. Lloyd's Register assumes no responsibility and 
shall not be liable to any person for any loss, damage or expense caused by reliance on the information or advice in this document or howsoever provided, unless that person has signed a contract with the relevant Lloyd's Register entity for 

the provision of this information or advice and in that case any responsibility or liability is exclusively on the terms and conditions set out in that contract. 
 

Page 2 of 4 

CERTIFICATE BJG6023851/A SCHEDULE 

 

Tianjin Yuantaiderun Pipe Manufacturing Group Co., Ltd.  
Tianjin Yuantaiderun International Trade Co., Ltd. 

 

In the production facility located at: 

 

Industrial Area, Daqiuzhuang Town, Tianjin City,  
No.2, Science and Technology Road, Industrial Area,  

Daqiuzhuang Town, Jinghai Section, Tianjin City, 
People’s Republic of China 

 

Mill Identification and Products Standard, Grade and Size 
              
Daqiuzhuang Town, Jinghai County,  
Tianjin, P.R. China 

EN 10210-1: 2006, EN 10210-2: 2006  
S235JRH, S275J0H, S275J2H, S355J0H, S355J2H and 
S355K2H and S460NH 
 

50 welded pipe line (No. 2 line) 
ERW production line 
 

For square pipe, side dimension range from 20 to 50mm, 
thickness range from 2.0 to 5.0mm; 
For rectangular pipe, BXH range from 20X25 to 60X40mm 
thickness range from 2.0 to 5.0mm. 
 

114 welded pipe line (No. 7 line) 
ERW production line 

For square pipe, side dimension range from 40 to 90mm, 
thickness range from 2.0 to 8.0mm; 
For rectangular pipe, BXH range from 60X40 to 120X60mm 
thickness range from 2.0 to 8.0mm. 
 

200 welded pipe line 
ERW production line 
 

For square pipe, side dimension range from 90 to 200mm, 
thickness range from 2.0 to 16.0mm; 
For rectangular pipe, BXH range from 120X60 to 300X100mm 
thickness range from 2.0 to 16.0mm. 
 

300 welded pipe line (new) 
ERW production line 
 

For square pipe, side dimension range from 200 to 300mm, 
thickness range from 3.0 to 16.0mm; 
For rectangular pipe, BXH range from 300X100 to 350X250mm 
thickness range from 3.0 to 16.0mm. 
   

Schedule Issue: 02 

 

 

Date of Schedule Issue: 17 July 2020 
 
 

 

                                                                                                         
                            _______________________________________________ 
                            Amanda Wu on behalf of Lloyd's Register Verification 



  

 
FACTORY PRODUCTION CONTROL CERTIFICATE 
In compliance with the requirements of BC1:2012 and the 

Building and Construction Authority, Singapore 
 

 

  

 

 

 

 

Lloyd’s Register Verification Limited (Reg. no. 4929226) is a limited company registered in England and Wales. Registered office: 71 Fenchurch Street, London, EC3M 4BS, UK. A subsidiary of Lloyd’s Register Group Limited.  
Lloyd's Register Group Limited, its affiliates and subsidiaries and their respective officers, employees or agents are, individually and collectively, referred to in this clause as the 'Lloyd's Register'. Lloyd's Register assumes no responsibility and 
shall not be liable to any person for any loss, damage or expense caused by reliance on the information or advice in this document or howsoever provided, unless that person has signed a contract with the relevant Lloyd's Register entity for 

the provision of this information or advice and in that case any responsibility or liability is exclusively on the terms and conditions set out in that contract. 
 

Page 3 of 4 

CERTIFICATE BJG6023851/A SCHEDULE 

 

Tianjin Yuantaiderun Pipe Manufacturing Group Co., Ltd.  
Tianjin Yuantaiderun International Trade Co., Ltd. 

 

In the production facility located at: 

 

Industrial Area, Daqiuzhuang Town, Tianjin City,  
No.2, Science and Technology Road, Industrial Area,  

Daqiuzhuang Town, Jinghai Section, Tianjin City, 
People’s Republic of China 

 
Mill Identification and Products Standard, Grade and Size 

 
500 welded pipe line 
ERW production line 
 

For square pipe, side dimension range from 300 to 500mm, 
thickness range from 5.0 to 18.0mm; 
For rectangular pipe, BXH range from 300X250 to 500X450mm 
thickness range from 5.0 to 18.0mm. 
 

Cold-drawing pipe line Including  
Pipes formed by ERW, 
Pipes formed by LSAW,  
and Seamless pipes. 

For square pipe, side dimension range from 200 to 800mm, 
thickness range from 5.0 to 50.0mm; 
For rectangular pipe, BXH range from 300X100 to 750X500mm 
thickness range from 8.0 to 50.0mm. 
 

Heat treatment line For square pipe, side dimension range from 20 to 800mm, 
thickness range from 2.0 to 50.0mm; 
For rectangular pipe, BXH range from 20X25 to 750X500mm 
thickness range from 2.0 to 50.0mm. 

              
Daqiuzhuang Town, Jinghai County,  
Tianjin, P.R. China 

EN 10219-1: 2006, EN 10219-2: 2006  
S235JRH, S275J0H, S275J2H, S355J0H, S355J2H and 
S355K2H 
 

50 welded pipe line (No. 2 line) 
ERW production line 
 

For square pipe, side dimension range from 20 to 50mm, 
thickness range from 2.0 to 5.0mm; 
For rectangular pipe, BXH range from 20X25 to 60X40mm 
thickness range from 2.0 to 5.0mm. 
   

Schedule Issue: 02 

 

 

Date of Schedule Issue: 17 July 2020 
 
 

 

                                                                                                         
                            _______________________________________________ 
                            Amanda Wu on behalf of Lloyd's Register Verification 



  

 
FACTORY PRODUCTION CONTROL CERTIFICATE 
In compliance with the requirements of BC1:2012 and the 

Building and Construction Authority, Singapore 
 

 

  

 

 

 

 

Lloyd’s Register Verification Limited (Reg. no. 4929226) is a limited company registered in England and Wales. Registered office: 71 Fenchurch Street, London, EC3M 4BS, UK. A subsidiary of Lloyd’s Register Group Limited.  
Lloyd's Register Group Limited, its affiliates and subsidiaries and their respective officers, employees or agents are, individually and collectively, referred to in this clause as the 'Lloyd's Register'. Lloyd's Register assumes no responsibility and 
shall not be liable to any person for any loss, damage or expense caused by reliance on the information or advice in this document or howsoever provided, unless that person has signed a contract with the relevant Lloyd's Register entity for 

the provision of this information or advice and in that case any responsibility or liability is exclusively on the terms and conditions set out in that contract. 
 

Page 4 of 4 

CERTIFICATE BJG6023851/A SCHEDULE 

 

Tianjin Yuantaiderun Pipe Manufacturing Group Co., Ltd.  
Tianjin Yuantaiderun International Trade Co., Ltd. 

 

In the production facility located at: 

 

Industrial area, Daqiuzhuang town, Tianjin City,  
No.2, Science and Technology Road, Industrial Area,  

Daqiuzhuang Town, Jinghai Section, Tianjin City, 
People’s Republic of China 

 
Mill Identification and Products Standard, Grade and Size 

 
114 welded pipe line (No. 7 line) 
ERW production line 

For square pipe, side dimension range from 40 to 90mm, 
thickness range from 2.0 to 8.0mm; 
For rectangular pipe, BXH range from 60X40 to 120X60mm 
thickness range from 2.0 to 8.0mm. 
 

200 welded pipe line 
ERW production line 
 

For square pipe, side dimension range from 90 to 200mm, 
thickness range from 2.0 to 16.0mm; 
For rectangular pipe, BXH range from 120X60 to 300X100mm 
thickness range from 2.0 to 16.0mm. 
 

300 welded pipe line (new) 
ERW production line 
 

For square pipe, side dimension range from 200 to 300mm, 
thickness range from 3.0 to 16.0mm; 
For rectangular pipe, BXH range from 300X100 to 350X250mm 
thickness range from 3.0 to 16.0mm. 
 

500 welded pipe line 
ERW production line 
 

For square pipe, side dimension range from 300 to 500mm, 
thickness range from 5.0 to 18.0mm; 
For rectangular pipe, BXH range from 300X250 to 500X300mm 
thickness range from 5.0 to 18.0mm. 
 

Cold-drawing pipe line Including  
Pipes formed by ERW, 
Pipes formed by LSAW 
 

For square pipe, side dimension range from 200 to 500mm, 
thickness range from 5.0 to 40.0mm; 
For rectangular pipe, BXH range from 300X100 to 500X300mm 
thickness range from 8.0 to 40.0mm. 

 
 

Schedule Issue: 02 

 

 

Date of Schedule Issue: 17 July 2020 

 

                                                                                                         
                            _______________________________________________ 
                            Amanda Wu on behalf of Lloyd's Register Verification 



  

 
Certificate of Conformity of Factory Production Control  

 
 

  

 

 

 

 

Lloyd’s Register Verification Limited (Reg. no. 4929226) is a limited company registered in England and Wales. Registered office: 71 Fenchurch Street, London, EC3M 4BS, UK. A subsidiary of Lloyd’s Register Group Limited. 
Lloyd's Register Group Limited, its affiliates and subsidiaries and their respective officers, employees or agents are, individually and collectively, referred to in this clause as the 'Lloyd's Register'. Lloyd's Register assumes no responsibility and 
shall not be liable to any person for any loss, damage or expense caused by reliance on the information or advice in this document or howsoever provided, unless that person has signed a contract with the relevant Lloyd's Register entity for 

the provision of this information or advice and in that case any responsibility or liability is exclusively on the terms and conditions set out in that contract. 
 

LRV/ECD/CPR/2+/June_2014/Rev.1 
 

Page 1 of 3 

 

This certificate is issued to: 

 

Manufacturer:     Tianjin Yuantaiderun Pipe Manufacturing Group Co., Ltd.  
                           Industrial Area, Daqiuzhuang Town, Tianjin City, 
                           Tianjin Yuantaiderun International Trade Co., Ltd. 
                           No.2, Science and Technology Road, Industrial Area,  
                           Daqiuzhuang Town, Jinghai Section, Tianjin City, 
                           People’s Republic of China 

 

 
In compliance with Regulation 305/2011/EU of the European Parliament and of the Council of 

9 March 2011 (the Construction Products Regulation or CPR), 
this certificate applies to the construction product: 

 

Manufacture of Square and Rectangular Hollow Sections 

 

This certificate attests that all provisions concerning the assessment and verification of  
constancy of performance and the performances described in Annex ZA of the standard(s) 

 

EN 10210-1:2006 Hot finished structural hollow sections of non-alloy  
and fine grain steels- Part 1: Technical delivery conditions 

 

under system 2+ are applied and that the product fulfils all the prescribed requirements  
set out above. 

 
The attached Schedule, of the same date, details the manufacturing location(s),  

harmonised product standard and product parameters and shall form a part of this certificate. 
 

This Certificate will remain valid as long as the test methods and/or factory production control  

requirements included in the harmonised standard, used to assess the performance  
of the declared characteristics, do not change, and the product, and the manufacturing  

conditions in the plant are not modified significantly. 
 

 

 

Certificate Number: 0038/CPR/SHA/BJG6023851/B 

 

 

Original Approval Date: 25 May 2015 
 

 

Current Issue Date: 17 July 2020 

 

 

Expiry Date: 29 Jun 2021 

 

 

LRV Notified Body Number: 0038 
 

 

 
 

 
 

 
 

                                                                                                       
                            _______________________________________________ 
                            Amanda Wu on behalf of Lloyd's Register Verification 



  

 
Certificate of Conformity of Factory Production Control  

 
 

  

 

 

 

 

Lloyd’s Register Verification Limited (Reg. no. 4929226) is a limited company registered in England and Wales. Registered office: 71 Fenchurch Street, London, EC3M 4BS, UK. A subsidiary of Lloyd’s Register Group Limited. 
Lloyd's Register Group Limited, its affiliates and subsidiaries and their respective officers, employees or agents are, individually and collectively, referred to in this clause as the 'Lloyd's Register'. Lloyd's Register assumes no responsibility and 
shall not be liable to any person for any loss, damage or expense caused by reliance on the information or advice in this document or howsoever provided, unless that person has signed a contract with the relevant Lloyd's Register entity for 

the provision of this information or advice and in that case any responsibility or liability is exclusively on the terms and conditions set out in that contract. 
 

LRV/ECD/CPR/2+/June_2014/Rev.1 
 

Page 2 of 3 

CERTIFICATE 0038/CPR/SHA/BJG6023851/B SCHEDULE 

 

Manufacturer:     Tianjin Yuantaiderun Pipe Manufacturing Group Co., Ltd.  
                           Industrial Area, Daqiuzhuang Town, Tianjin City,  
                           Tianjin Yuantaiderun International Trade Co., Ltd. 
                           No.2, Science and Technology Road, Industrial Area,  
                           Daqiuzhuang Town, Jinghai Section, Tianjin City, 
                           People’s Republic of China 
 

Manufacturing Location and Products Standard, Grade and Size 
              
Daqiuzhuang Town, Jinghai County,  
Tianjin, P.R. China 

EN 10210-1: 2006, EN 10210-2: 2006  
S235JRH, S275J0H, S275J2H, S355J0H, S355J2H  
and S355K2H and S460NH 
 

50 welded pipe line (No. 2 line) 
ERW production line 
 

For square pipe, side dimension range from 20 to 50mm,  
thickness range from 2.0 to 5.0mm; 
For rectangular pipe, BXH range from 20X25 to 60X40mm 
thickness range from 2.0 to 5.0mm. 
 

114 welded pipe line (No. 7 line) 
ERW production line 

For square pipe, side dimension range from 40 to 90mm,  
thickness range from 2.0 to 8.0mm; 
For rectangular pipe, BXH range from 60X40 to 120X60mm 
thickness range from 2.0 to 8.0mm. 
 

200 welded pipe line 
ERW production line 
 

For square pipe, side dimension range from 90 to 200mm, 
thickness range from 2.0 to 16.0mm; 
For rectangular pipe, BXH range from 120X60 to 300X100mm 
thickness range from 2.0 to 16.0mm. 
 

300 welded pipe line (new) 
ERW production line 
 

For square pipe, side dimension range from 200 to 300mm, 
thickness range from 3.0 to 16.0mm; 
For rectangular pipe, BXH range from 300X100 to 350X250mm 
thickness range from 3.0 to 16.0mm. 
 

500 welded pipe line 
ERW production line 
 

For square pipe, side dimension range from 300 to 500mm, 
thickness range from 5.0 to 18.0mm; 
For rectangular pipe, BXH range from 300X250 to 500X450mm 
thickness range from 5.0 to 18.0mm. 
 
 

 

Schedule Issue: 04 

 

 

Date of Schedule Issue: 17 July 2020 

 

 

LRV Notified Body Number: 0038 
 

 

 
 

 
 

 

 

                                                                                                      
                            ______________________________________________ 

                            Amanda Wu on behalf of Lloyd's Register Verification 
 



  

 
Certificate of Conformity of Factory Production Control  

 
 

  

 

 

 

 

Lloyd’s Register Verification Limited (Reg. no. 4929226) is a limited company registered in England and Wales. Registered office: 71 Fenchurch Street, London, EC3M 4BS, UK. A subsidiary of Lloyd’s Register Group Limited. 
Lloyd's Register Group Limited, its affiliates and subsidiaries and their respective officers, employees or agents are, individually and collectively, referred to in this clause as the 'Lloyd's Register'. Lloyd's Register assumes no responsibility and 
shall not be liable to any person for any loss, damage or expense caused by reliance on the information or advice in this document or howsoever provided, unless that person has signed a contract with the relevant Lloyd's Register entity for 

the provision of this information or advice and in that case any responsibility or liability is exclusively on the terms and conditions set out in that contract. 
 

LRV/ECD/CPR/2+/June_2014/Rev.1 
 

Page 3 of 3 

CERTIFICATE 0038/CPR/SHA/BJG6023851/B SCHEDULE 

 

Manufacturer:     Tianjin Yuantaiderun Pipe Manufacturing Group Co., Ltd.  
                           Industrial Area, Daqiuzhuang Town, Tianjin City,  
                           Tianjin Yuantaiderun International Trade Co., Ltd. 
                           No.2, Science and Technology Road, Industrial Area,  
                           Daqiuzhuang Town, Jinghai Section, Tianjin City, 
                           People’s Republic of China 
 

Manufacturing Location and Products Standard, Grade and Size 
              
Cold-drawing pipe line Including  
Pipes formed by ERW, 
Pipes formed by LSAW,  
and Seamless pipes. 

For square pipe, side dimension range from 200 to 800mm, 
thickness range from 5.0 to 50.0mm; 
For rectangular pipe, BXH range from 300X100 to 750X500mm 
thickness range from 8.0 to 50.0mm. 
 

Heat treatment line For square pipe, side dimension range from 20 to 800mm, 
thickness range from 2.0 to 50.0mm; 
For rectangular pipe, BXH range from 20X25 to 750X500mm 
thickness range from 2.0 to 50.0mm. 
 
 

   

 
      

 

Schedule Issue: 04 

 

 

Date of Schedule Issue: 17 July 2020 

 

 

LRV Notified Body Number: 0038 
 

 

 
 

 
 

 

 

                                                                                                      
                            ______________________________________________ 

                            Amanda Wu on behalf of Lloyd's Register Verification 



  

 
Certificate of Conformity of Factory Production Control  

 
 

  

 

 

 

 

Lloyd’s Register Verification Limited (Reg. no. 4929226) is a limited company registered in England and Wales. Registered office: 71 Fenchurch Street, London, EC3M 4BS, UK. A subsidiary of Lloyd’s Register Group Limited. 
Lloyd's Register Group Limited, its affiliates and subsidiaries and their respective officers, employees or agents are, individually and collectively, referred to in this clause as the 'Lloyd's Register'. Lloyd's Register assumes no responsibility and 
shall not be liable to any person for any loss, damage or expense caused by reliance on the information or advice in this document or howsoever provided, unless that person has signed a contract with the relevant Lloyd's Register entity for 

the provision of this information or advice and in that case any responsibility or liability is exclusively on the terms and conditions set out in that contract. 
 

LRV/ECD/CPR/2+/June_2014/Rev.1 
 

Page 1 of 2 

 

This certificate is issued to: 

 

Manufacturer:     Tianjin Yuantaiderun Pipe Manufacturing Group Co., Ltd.  
                           Industrial Area, Daqiuzhuang Town, Tianjin City, 
                           Tianjin Yuantaiderun International Trade Co., Ltd. 
                           No.2, Science and Technology Road, Industrial Area,  
                           Daqiuzhuang Town, Jinghai Section, Tianjin City, 
                           People’s Republic of China 

 

 
In compliance with Regulation 305/2011/EU of the European Parliament and of the Council of 

9 March 2011 (the Construction Products Regulation or CPR), 
this certificate applies to the construction product: 

 

Manufacture of ERW and LSAW Square and Rectangular Hollow Sections 

 

This certificate attests that all provisions concerning the assessment and verification of  
constancy of performance and the performances described in Annex ZA of the standard(s) 

 

EN 10219-1:2006 Cold Formed Welded Structural Hollow Sections of Non-alloy  
and Fine Grain Steels – General Technical Delivery Conditions 

 

under system 2+ are applied and that the product fulfils all the prescribed requirements  
set out above. 

 
The attached Schedule, of the same date, details the manufacturing location(s),  

harmonised product standard and product parameters and shall form a part of this certificate. 
 

This Certificate will remain valid as long as the test methods and/or factory production control  

requirements included in the harmonised standard, used to assess the performance  
of the declared characteristics, do not change, and the product, and the manufacturing  

conditions in the plant are not modified significantly. 
 

 

 

Certificate Number: 0038/CPR/SHA/BJG6023851/A 

 

 

Original Approval Date: 25 May 2015 
 

 

Current Issue Date: 17 July 2020 

 

 

Expiry Date: 24 May 2021 

 

 

LRV Notified Body Number: 0038 
 

 

 
 

 
 

 
 

                                                                                                       
                            _______________________________________________ 
                            Amanda Wu on behalf of Lloyd's Register Verification 



  

 
Certificate of Conformity of Factory Production Control  

 
 

  

 

 

 

 

Lloyd’s Register Verification Limited (Reg. no. 4929226) is a limited company registered in England and Wales. Registered office: 71 Fenchurch Street, London, EC3M 4BS, UK. A subsidiary of Lloyd’s Register Group Limited. 
Lloyd's Register Group Limited, its affiliates and subsidiaries and their respective officers, employees or agents are, individually and collectively, referred to in this clause as the 'Lloyd's Register'. Lloyd's Register assumes no responsibility and 
shall not be liable to any person for any loss, damage or expense caused by reliance on the information or advice in this document or howsoever provided, unless that person has signed a contract with the relevant Lloyd's Register entity for 

the provision of this information or advice and in that case any responsibility or liability is exclusively on the terms and conditions set out in that contract. 
 

LRV/ECD/CPR/2+/June_2014/Rev.1 
 

Page 2 of 2 

CERTIFICATE 0038/CPR/SHA/BJG6023851/A SCHEDULE 

 

Manufacturer:     Tianjin Yuantaiderun Pipe Manufacturing Group Co., Ltd.  
                           Industrial Area, Daqiuzhuang Town, Tianjin City,  
                           Tianjin Yuantaiderun International Trade Co., Ltd. 
                           No.2, Science and Technology Road, Industrial Area,  
                           Daqiuzhuang Town, Jinghai Section, Tianjin City, 
                           People’s Republic of China 
 

Manufacturing Location and Products Standard, Grade and Size 
              
Daqiuzhuang Town, Jinghai County,  
Tianjin, P.R. China 

EN 10219-1: 2006, EN 10219-2: 2006  
S235JRH, S275J0H, S275J2H, S355J0H, S355J2H and S355K2H 
 

50 welded pipe line (No. 2 line) 
ERW production line 
 

For square pipe, side dimension range from 20 to 50mm,  
thickness range from 2.0 to 5.0mm; 
For rectangular pipe, BXH range from 20X25 to 60X40mm 
thickness range from 2.0 to 5.0mm. 
 

114 welded pipe line (No. 7 line) 
ERW production line 

For square pipe, side dimension range from 40 to 90mm,  
thickness range from 2.0 to 8.0mm; 
For rectangular pipe, BXH range from 60X40 to 120X60mm 
thickness range from 2.0 to 8.0mm. 
 

200 welded pipe line 
ERW production line 
 

For square pipe, side dimension range from 90 to 200mm, 
thickness range from 2.0 to 16.0mm; 
For rectangular pipe, BXH range from 120X60 to 300X100mm 
thickness range from 2.0 to 16.0mm. 
 

300 welded pipe line (new) 
ERW production line 
 

For square pipe, side dimension range from 200 to 300mm, 
thickness range from 3.0 to 16.0mm; 
For rectangular pipe, BXH range from 300X100 to 350X250mm 
thickness range from 3.0 to 16.0mm. 
 

500 welded pipe line 
ERW production line 
 

For square pipe, side dimension range from 300 to 500mm, 
thickness range from 5.0 to 18.0mm; 
For rectangular pipe, BXH range from 300X250 to 500X300mm 
thickness range from 5.0 to 18.0mm. 
 

Cold-drawing pipe line Including  
Pipes formed by ERW, 
Pipes formed by LSAW  

For square pipe, side dimension range from 200 to 500mm, 
thickness range from 5.0 to 40.0mm; 
For rectangular pipe, BXH range from 300X100 to 500X300mm 
thickness range from 8.0 to 40.0mm. 

   

 
      

 

Schedule Issue: 04 

 

 

Date of Schedule Issue: 17 July 2020 

 

 

LRV Notified Body Number: 0038 
 

 

 
 

 

 
 

                                                                                                      
                            ______________________________________________ 
                            Amanda Wu on behalf of Lloyd's Register Verification 



Yuantai Derun Steel Hollow Sections 

Tianjin Yuantai Derun Pipe Manufacturing Group 

Daqiuzhuang Industrial Zone, Jinghai, Tianjin, China 



EPD15804TianijnSteelHollowSectionsB2C@Evah30April2019V3.docx

EPD Verification and LCA Details 

EPD Scope Cradle to Gate 

EPD Number TIA-001-2019 

Issue Date 4th April 2019 

Valid Until 4th April 2024 

This EPD discloses potential environmental outcomes compliant with EN 15804:2012 + A1 2013 for
business to consumer communication

Demonstration of Verification 

Standard EN 15804 serves as the core Product

Independent external verification of the declaration and data, according to ISO 14025:2010

 Internal 

Third Party Verifier
Ecquate Pty Ltd

LCA Reviewed
GreenTag Pty Ltd

EPD Reviewed
Global GreenTag

a Optional for business-to-business communicat
communication according to EN ISO 14025:2010, 9.4

The EPD is property of declared manufacturer.
Australian transport is often more than elsewhere. Comparability is further dependent on the product
category rules used and the source of the data. Further explanatory information is found at
info@globalgreentag.com or contact: 

EPD Program Operator 

Global GreenTag International 

Pty Ltd., PO Box 311 

Cannon Hill, QLD 4170 

Phone: +61 (0)7 33 999 686 

http://www. globalgreentag.com 

Global GreenTag

EN 15804:2012+A1:2013, ISO 14025

Environmental Product Declaration

Yuantai Derun Hollow Steel Sections

EPD15804TianijnSteelHollowSectionsB2C@Evah30April2019V3.docx 

This EPD discloses potential environmental outcomes compliant with EN 15804:2012 + A1 2013 for
communication. 

tandard EN 15804 serves as the core Product Category Rules (PCR)

Independent external verification of the declaration and data, according to ISO 14025:2010

 External

Party Verifier 
a
 by

 
Murray Jones 

Ecquate Pty Ltd 

LCA Reviewed by Omar Biaz Global 
GreenTag Pty Ltd 

Reviewed by David Baggs 
Global GreenTag International Pty Ltd 

business communication; mandatory for business
EN ISO 14025:2010, 9.4. 

The EPD is property of declared manufacturer. Different program EPDs may not be comparable as e.g.
Australian transport is often more than elsewhere. Comparability is further dependent on the product
category rules used and the source of the data. Further explanatory information is found at

certification1@globalgreentag.com. 

LCA and EPD Producer Declaration Owner

The Evah Institute 

PO Box 123 Thirroul NSW 

Phone: +61 (0)7 5545 0998 

http://www.evah.com.au/ 

Tianjin Yuantai Derun Pipe
Manufacturing Group Co., Ltd

Daqiuzhuang
Jinghai, Tianjin,

Phone: +86-022

http://www.ytdrintl.com/

http://www.ytdr

Global GreenTag
CertTM

 EPD Program 

ISO 14025, ISO 21930 

Environmental Product Declaration 

Hollow Steel Sections 

Page 2 of 10 

This EPD discloses potential environmental outcomes compliant with EN 15804:2012 + A1 2013 for 

(PCR) 

Independent external verification of the declaration and data, according to ISO 14025:2010 

on; mandatory for business-to-consumer 

Different program EPDs may not be comparable as e.g. 
Australian transport is often more than elsewhere. Comparability is further dependent on the product 
category rules used and the source of the data. Further explanatory information is found at 

Declaration Owner 

Tianjin Yuantai Derun Pipe 
Manufacturing Group Co., Ltd 

Daqiuzhuang Industrial Zone, 
Tianjin, China 

022-58951960 

http://www.ytdrintl.com/ 

http://www.ytdrgg.com/ 

04-04-2019

05/04/19



Global GreenTag
CertTM

 EPD Program

EN 15804:2012+A1:2013, ISO 14025, ISO 21930 

Environmental Product Declaration 

Yuantai Derun Hollow Steel Sections 

EPD15804TianijnSteelHollowSectionsB2C@Evah30April2019V3.docx Page 3 of 10 

Product Information 

Product Name Yuantai Derun Steel Hollow Sections 

Product code 

Chinese grade low carbon 
steels:  

• Q195 and

• Q215A/B.

Chinese grade mild steels: 

• Q235GJB/C/D

• Q345GJC/D/E, Q345B &
Q345GJB

• Q390GJC/D/E and

• Q460GJE/D/E.

Chinese grade low alloy steels: 

• Q420GJC/D/E and

• Q460GJE/D/E.

EN-grade mild steels: 

• S235JRH/JOH/J2H

• S275JRH/JOH/J2H,S275NH and

• S355JRH/JOH/J2H, S355NH.

Japanese Grade mild steels: 

• SS490 and SS400

American grade mild steels: 

• A500GA/GB, A500GC

• A501GR.A and

• A501 GR.B.

EN-grade low alloy steels: 

• S420JOH and

• S460NH/S460JOH.

Manufacturing Site Tianjin Yuantai Derun Pipe Manufacturing Group Factory in Tianjin 

Site Representation 
and Geography 

Daqiuzhuang Industrial Zone, Jinghai, Tianjin, China 

Manufacturer warranty Not Applicable 

Service Life The reference service life is unspecified for cradle to gate scope 

Standards ASTMA500, ASTMA501, AS1163, EN10219, EN10210, BS1387, JISG3466, 
DIN2240 

Product Specifications 

Hollow sections 50 ±5mm thick wall exterior: 

• Square 1100*1100mm linear mass density 1627kg/m,

• Rectangular 1000*1100mm linear mass density 1548kg/m and

• Round 2032mm dia linear mass density 2440kg/m.

Functional & Technical 
Performance 

Low carbon steel 
yield strengths of: 

• 195MPa

• 215MPa.

Mild steel yield 
strengths of:  

• 235MPa,

• 345MPa,

• 390 MPa or

• 460 Mpa

Low alloy steel 
yield strength of: 

• 420MPa or

• 460MPa

Functional 
Performance in 

building 

Hollow Structural sections can be circular (CHS), square (SHS) or 
rectangular (RHS). As well as welded steel frames RHS steel is commonly 
used for beams while SHS and CHS are more often used for columns. 

No Very High Concern 
Contains no substances in the “Candidate List of Substances of Very High 
Concern for authorisation” registration with the European Chemicals Agency 



Global GreenTag
CertTM

 EPD Program

EN 15804:2012+A1:2013, ISO 14025, ISO 21930 

Environmental Product Declaration 

Yuantai Derun Hollow Steel Sections 

EPD15804TianijnSteelHollowSectionsB2C@Evah30April2019V3.docx Page 4 of 10 

Program Description 

PCR This declaration is based on Structural Steel Products PCR SS: 2019 V1 

PCR Review Chair Murray Jones of Ecquate Pty Ltd 

EPD type Cradle to gate (A1 to A3) as defined by EN 15804 and depicted in Figure 1 

Declared Unit Each declared product per kilogram 

Comparability Construction product EPDs may not be comparable if not EN15804 compliant 

Range and variability Significant differences of average LCIA results are declared 

Cut-off criteria and 
Data quality 

Complies with the EN 15804 + A1 2013 

Primary Data 

Data was collected in accordance with EN ISO 14044:2006, 4.3.2, from primary 
sources including the manufacturer, suppliers and their publications on standards 
locations, logistics, technology, market share, management system, and 
commitment to improved environmental performance. 

System boundary 
The system boundary with nature includes material and energy system input 
processing plus manufacture and transport to factory gate plus waste arising. 

Product stages 
included 

A1, A2, A3 as depicted and denoted by x in Figure 1 

Stages are included from  

• A1 raw material acquisition, extraction, refining and processing plus reuse
of scrap or material from previous systems; electricity generated from all
sources with extraction, refining & transport; plus secondary fuel energy
and recovery processes, and

• A2 transport internal and to the factory gate as well as

• A3 manufacture of product packaging, inputs and ancillary material and
system flows leaving at end-of-waste boundary allocated as coproducts.

Stages excluded A4-5, B1-7, C1-1& D as depicted and denoted by MND in Figure 1 

Information Modules 

As Figure 1 shows an x marking LCA and EPD results to be shown summed for modules A1-3. Modules A4 
to C4 and D are not declared marked MND which does not indicate zero inventory or impact.  

 Figure 1 EPD Life Cycle Phases and Stages Cradle to Gate or Grave 



Global GreenTag
CertTM

 EPD Program

EN 15804:2012+A1:2013, ISO 14025, ISO 21930 

Environmental Product Declaration 

Yuantai Derun Hollow Steel Sections 

EPD15804TianijnSteelHollowSectionsB2C@Evah30April2019V3.docx Page 5 of 10 

Base Material Origin and Detail 

Table 1 lists the low carbon, mild and low alloy steel hollow section product components, function, source 
and amount in mass percent. 

Table 1 Base Material Chemical Analysis 

Function Component Source of Input Flow 

Low Carbon 
Steel 

 % w/w 

Mild 
steel 

 % w/w 

Low Alloy 
Steel 

% w/w 

Steel 
Substrate 

Iron 
Australian and Brazilian iron 
ore charge for  iron making 

>98.00 >98.00 >97.00 >97.00

Strength & 
Hardness 

Carbon 
Australian and Chinese coking 
coal charge for iron making 

≤0.12 ≤0.15 ≤0.20 ≤0.20 

Deoxidiser & 
Strength 

Manganese 

Chinese pyrolusite ore to 
make ferromanganese alloy 
for steel making 

≤0.50 ≤1.20 ≤1.40 ≤1.70 

Deoxidiser & 
Strength 

Silicon 

Iron making charge  and 
Chinese quartzite ore to make 
ferrosilicon steel making alloy 

≤0.30 ≤0.35 ≤0.35 ≤0.55 

Hardenability Chromium 

South African chromite ore to 
make ferrochrome  alloy for 
steel making  

≤0.40 

Ductility Nickel 

New Caledonian goethite ore 
to make ferronickel alloy for 
steel making 

≤0.40 

Machinability Sulphur 
Australian and Chinese iron 
ore & coal charge for iron 
making 

≤0.04 ≤0.05 ≤0.035 ≤0.035 

Machinability 
& Durability 

Phosphor-
us 

Australian and Brazilian iron 
ore charge for iron making 

≤0.035 ≤0.045 ≤0.030 ≤0.035 

Deoxidiser Aluminium 
Chinese  post industrial scrap 
to Aluminium for steel making 

≥0.015 ≥0.015 ≥0.015 ≥0.015 

Hardness Nitrogen 

Australian and Chinese coke 
and gas charge for iron & steel 
making 

≤0.009 ≤0.009 ≤0.009 ≤0.009 

Toughness Titanium 

Chinese scrap for 
ferrotitanium alloy for steel 
making  

0.02-0.2 

Toughness Vanadium 

Chinese magnetite ore to 
make ferrovanadium alloy for 
steel making 

0.02-0.2 

Toughness Niobium 

Brazilian & Canadian 
pyrochlore ore to make 
ferroniobium alloy for steel 

0.015-0.06 



Global GreenTag
CertTM

 EPD Program

EN 15804:2012+A1:2013, ISO 14025, ISO 21930 

Environmental Product Declaration 

Yuantai Derun Hollow Steel Sections 

EPD15804TianijnSteelHollowSectionsB2C@Evah30April2019V3.docx Page 6 of 10 

Figure 2 shows included processes for making steel products in a lilac cradle to gate system boundary. Such 
processes require input flows from and generate output flows to air, land, water and communities. 

Alongside, within the dashed lines, are depicted many excluded scenarios outside the EPD scope. These 
processes are from the factory gate to end of life grave. 

Figure 2 Steel Hollow Section Process Flow Chart Cradle to Gate 

Processes include those of: 

• Mining, extracting and refining resources to make commodities and packaging;

• Acquiring, cultivating, harvesting, extracting, refining produce and biomass;

• Fuel production to supply power and process energy and freight;

• Chemicals use in processing resources, intermediates and ancillaries;

• Process energy, fuel and freight of resources, intermediates and ancillaries;

• Infrastructure process energy transformed and material wear loss e.g. tyres.



Global GreenTag
CertTM

 EPD Program

EN 15804:2012+A1:2013, ISO 14025, ISO 21930 

Environmental Product Declaration 

Yuantai Derun Hollow Steel Sections 

EPD15804TianijnSteelHollowSectionsB2C@Evah30April2019V3.docx Page 7 of 10 

Cradle to Gate Inventory and Potential Impact Results 

Table 2 shows the low carbon steel product resource inputs plus waste and output flows per declared unit. 

Table 2 Resource Inputs and Outputs A1-A3/kg 

INPUTS Unit Q195 Q215A/B 

Net Fresh Water m
3

0.014 0.014 

Secondary Water m
3

0.008 0.008 

Secondary Material kg 0.004 0.004 

Primary Renewable Energy Not Feedstock MJ 0.327 0.322 

Renewable Secondary Fuels MJ 0.021 0.021 

Primary Energy Renewable Feedstock Material MJ 0.034 0.034 

Total Primary Renewable Energy Resources MJ 0.361 0.356 

Non-Renewable Secondary Fuels MJ 0.005 0.005 

Primary Energy Non-Renewable Not Feedstock MJ 29.67 29.57 

Non-Renewable Primary Energy Feedstock MJ 5.433 5.418 

Total Non-Renewable Primary Energy Resources MJ 35.10 34.99 

OUTPUTS Unit Q195 Q215A/B 

Hazardous waste disposed kg 3.18E-05 3.18E-05 

Non- Hazardous waste disposed kg 8.44E-06 8.44E-06 

Radio Active Waste disposed kg 3.40E-12 3.40E-06 

Components for reuse kg 0.047 0.045 

Material for recycling kg 0.108 0.105 

Material for Energy recovery kg <0.01 <0.01 

Exported electrical energy MJ <0.01 <0.01 

Exported Thermal Energy MJ <0.01 <0.01 

Table 3 lists potential impact results per kg declared unit cradle to gate. 

Table 3 Potential Impacts/kg 

CATEGORIES Factor Q195 Q215A/B 

Global Warming Potential kg CO2e 2.408 2.400 

Stratospheric Ozone Depletion Potential kg R11e 3.25E-08 3.19E-08 

Acidification of Land and Water Potential kg SO2e 8.00E-03 8.00E-03 

Eutrophication Potential kg PO4e
3

1.50E-03 1.40E-03 

Photochemical Ozone Creation Potential kg C2H4e 1.37E-04 1.36E-04 

Elements Abiotic Depletion Potential kg Sbe  2.28E-07  2.28E-07 

Fossil Fuel Abiotic Depletion Potential MJncv 31.40 31.3 



Global GreenTag
CertTM

 EPD Program

EN 15804:2012+A1:2013, ISO 14025, ISO 21930 

Environmental Product Declaration 

Yuantai Derun Hollow Steel Sections 

EPD15804TianijnSteelHollowSectionsB2C@Evah30April2019V3.docx Page 8 of 10 

Table 4 shows the mild steel product inputs plus waste and output flows per kilogram declared unit. 

Table 4 Resource Inputs and Outputs A1-A3/kg 

INPUTS Unit Q235 Q345 Q390 Q460 

Net Fresh Water m
3

0.014 0.014 0.014 0.014 

Secondary Water m
3

0.008 0.008 0.008 0.008 

Secondary Material kg 0.004 0.004 0.004 0.004 

Primary Renewable Energy Not Feedstock MJ 0.313 0.312 0.331 0.313 

Renewable Secondary Fuels MJ 0.020 0.020 0.022 0.020 

Primary Energy Renewable Feedstock Material MJ 0.029 0.029 0.041 0.029 

Total Primary Renewable Energy Resources MJ 0.342 0.341 0.372 0.341 

Non-Renewable Secondary Fuels MJ 0.004 0.004 0.007 0.004 

Primary Energy Non-Renewable Not Feedstock MJ 28.38 28.46 30.29 28.29 

Non-Renewable Primary Energy Feedstock MJ 5.132 5.191 5.714 5.391 

Total Non-Renewable Primary Energy Resources MJ 33.51 33.625 35.959 33.681 

OUTPUTS Unit Q235 Q345 Q390 Q460 

Hazardous waste disposed kg 3.18E-05 3.18E-05 3.18E-05 3.18E-05 

Non- Hazardous waste disposed kg 8.44E-06 8.44E-06 8.44E-06 8.44E-06 

Radio Active Waste disposed kg 3.47E-06 2.93E-04 3.46E-06 3.46E-06 

Components for reuse kg 0.047 0.047 0.058 0.044 

Material for recycling kg 0.135 0.133 0.120 0.131 

Material for Energy recovery kg <0.01 <0.01 <0.01 <0.01 

Exported electrical energy MJ <0.01 <0.01 <0.01 <0.01 

Exported Thermal Energy MJ <0.01 <0.01 <0.01 <0.01 

Table 5 lists potential impact results per kg declared unit cradle to gate. 

Table 5 Potential Impacts/kg 

CATEGORIES Factor Q235 Q345 Q390 Q460 

Global Warming Potential kg CO2e 2.037 2.284 2.463 2.269 

Stratospheric Ozone Depletion Potential kg R11e 3.11E-08 3.09E-08 3.27E-08 3.11E-08 

Acidification of Land and Water Potential kg SO2e 7.00E-03 7.00E-03 8.00E-03 7.00E-03 

Eutrophication Potential kg PO4e
3

1.40E-03 1.40E-03 1.50E-03 1.40E-03 

Photochemical Ozone Creation Potential kg C2H4e 1.28E-04 1.29E-04 1.40E-04 1.30E-04 

Elements Abiotic Depletion Potential kg Sbe 2.17E-07  2.17E-07  2.35E-07  2.16E-07 

Fossil Fuel Abiotic Depletion Potential MJncv 29.9 30.0 32.2 29.8 



Global GreenTag
CertTM

 EPD Program

EN 15804:2012+A1:2013, ISO 14025, ISO 21930 

Environmental Product Declaration 

Yuantai Derun Hollow Steel Sections 

EPD15804TianijnSteelHollowSectionsB2C@Evah30April2019V3.docx Page 9 of 10 

Table 6 shows low alloy steel products resource inputs plus waste and output flows per declared unit. 

Table 6 Resource Inputs and Outputs A1-A3/kg 

INPUTS Units Q420 Q460 

Net Fresh Water m
3

0.014 0.014 

Secondary Water m
3

0.008 0.008 

Secondary Material kg 0.002 0.002 

Primary Renewable Energy Not Feedstock MJ 0.320 0.320 

Renewable Secondary Fuels MJ 0.021 0.021 

Primary Energy Renewable Feedstock Material MJ 0.025 0.025 

Total Primary Renewable Energy Resources MJ 0.348 0.345 

Non-Renewable Secondary Fuels MJ 0.004 0.004 

Primary Energy Non-Renewable Not Feedstock MJ 30.01 30.01 

Non-Renewable Primary Energy Feedstock MJ 5.336 5.337 

Total Non-Renewable Primary Energy Resources MJ 35.348 35.348 

OUTPUTS Units Q420 Q460 

Hazardous waste disposed kg 3.18E-05 3.18E-05 

Non- Hazardous waste disposed kg 8.44E-06 8.44E-06 

Radio Active Waste disposed kg 3.51E-06 3.51E-06 

Components for reuse kg 0.047 0.050 

Material for recycling kg 0.122 0.122 

Material for Energy recovery kg <0.01 <0.01 

Exported electrical energy MJ <0.01 <0.01 

Exported Thermal Energy MJ <0.01 <0.01 

Table 7 lists potential impact results per kg declared unit cradle to gate. 

Table 7 Potential Impacts/kg 

CATEGORIES Factors Q420 Q460 

Global Warming Potential kg CO2e 2.417 2.417 

Stratospheric Ozone Depletion Potential kg R11e 3.15E-08 3.15E-08 

Acidification of Land and Water Potential kg SO2e 8.00E-03 8.00E-03 

Eutrophication Potential kg PO4e
3

1.50E-03 1.50E-03 

Photochemical Ozone Creation Potential kg C2H4e 1.40E-04 1.40E-04 

Elements Abiotic Depletion Potential kg Sbe 5.95E-7 5.95E-7 

Fossil Fuel Abiotic Depletion Potential MJ 31.6 31.6 



Global GreenTag
CertTM

 EPD Program

EN 15804:2012+A1:2013, ISO 14025, ISO 21930 

Environmental Product Declaration 

Yuantai Derun Hollow Steel Sections 

EPD15804TianijnSteelHollowSectionsB2C@Evah30April2019V3.docx Page 10 of 10 

References 

ASTM A36 / A36M - 03 Standard Specifications for Carbon Structural Steel 

BRE Global, BRE Environmental Profiles 2013: Product Category Rules for Type III EPD of construction 
products to EN 15804:2012+A1:2013, PN 514. Watford, BRE, 2014 

CML LCA methodology, Institute of Environmental Sciences (CML), Faculty of Science, University of Leiden, 
Netherlands 

EN 10025-2:2004 - Hot rolled products of structural steels - Part 2: Technical delivery conditions for non-alloy 
structural steels. 

EN 10219:2006, Cold formed welded structural hollow sections of non-alloy and fine grain steels. Part 1: 
Technical delivery requirements, part 2: Tolerances, dimensions and sectional properties 

EN 10210:2006, hot finished structural hollow sections of non-alloy and fine grain steels, part 1: Technical 
delivery requirements, part 2: Tolerances, dimensions and sectional properties 

GreenTag™ 2019 http://www2.ecospecifier.org/services_offered/greentag_certification 

GreenTag™ 2019 Product Category Rules http://www.globalgreentag.com/greentag-epd-program 

International Energy Agency, Energy Statistics 2018 http://www.iea.org 

ISO 14015:2001 EMS: Environmental assessment of sites & organizations (EASO) 

ISO 14020:2000 Environmental labels & declarations — General principles 

ISO 14025:2006 Environmental labelling & declarations Type III EPDs Principles & procedures 

ISO 14031:1999 EM: Environmental performance evaluation: Guidelines 

ISO 14040:2006 EM: Life cycle assessment (LCA): Principles & framework, London, BSI, 2006. 

ISO 14044:2006 EM: LCA: Requirement & guideline LCI; LCIA Interpretation, London, BSI, 2006. 

ISO 15392:2008 Sustainability in building construction General principles 

ISO 15686-1:2011 Buildings & constructed assets Service life planning Part 1: General principles 

ISO 15686-2:2012 Buildings & constructed assets Service life (SL) planning Part 2: prediction  

ISO 15686-8:2008 Buildings & constructed assets SL planning Part 8: Reference & estimation 

ISO 21929-1:2011 Sustainability in building construction Sustainability indicators Part 1 Framework 

ISO 21930:2007 Building construction: Sustainability, Environmental declaration of building products 

ISO/TS 21931-1:2010 Sustainability in building construction: Framework for assessment, Part 1:  

ISO 21932:2013 Sustainability in buildings and civil engineering works -- A review of terminology  

U.S. Geological Survey, Mineral Commodity Summaries, Iron and Steel Slag, January 2016 

World Steel Association: Life cycle assessment methodology report, 2017 



The Global GreenTag Product Health Declaration has been designed to provide an additional 
level of service to the green product sector in facilitating an easier industry understanding of 
both the health hazard and risk (if any) associated with any certified product/s.

This PhD ceases currency when original GreenTag GreenRate/LCARate certification expires or 
is revoked. Please check www.globalgreentag.com for currency.

Products/Ranges:
Product Stages Assessed:

Licenced Site/s:
Licence Number:
Licence Date:
Valid To:
Standard:
Assessment Year:

PhD Summary

Percentage Assessed: Declaration Limit:

Declared by:
Global GreenTag
International Pty Ltd

David Baggs
CEO & Program Director

Verified compliant with:
ISO 14024 & ISO 17065

MANUFACTURING, IN USE, & END OF LIFE STAGES
% by mass. See over for explanation.

Tianjin Yuantai Derun Pipe Manufacturing Group Co., Ltd

Steel Hollow Sections
Rectangular, Circular and Square Hollow Sections

Manufacturing and in-use

Tianjin China
TIA- 001-v1-2019
27th May 2019
27th May 2020
GGT International v4.0
2019

100% 100ppm

   GreenTag Banned List Compliant - Annex XVII of REACH, SVHC Candidate/Authorisation List in REACH

   Product Meets Optimisation requirements - No Grey or Red Light category ingredients

   Meets WELL™ Building Standard: feature 04: VOC Reduction Part 4: Insulation, Enhanced Material Safety

   Meets WELL™ Building Standard: Feature 26 Part 1: Precautionary Material Selection 

   Meets WELL™ Building Standard: feature 97: Material Transparency     

   Very low worker exposure to Carcinogens, Mutagens, Reproductive Toxicant or Endocrine Disruptors

   Very low user exposure to Carcinogens, Mutagens, Reproductive Toxicant or Endocrine Disruptors

   Very low environmental exposure to Carcinogens, Mutagens, Reproductive Toxicant or Endocrine Disruptors

100%

100%

100%

IN USE HEALTH
(INCL VOCS)

INGREDIENT HAZARD 
ASSESSMENT

WHOLE OF LIFE 
RISK ASSESSMENT



1.0 Scope

The Global GreenTag International (GGT)  Product Health Declaration (PhD) has been designed to provide an additional level of service to the green product sector in 
facilitating an easier understanding of both the hazard and risk associated with any certified products and is intended to indicate: 

• Chemical hazards of both finished product and unique ingredients to a minimum level of 100ppm for each homogeneous ingredient throughout the 
product life cycle, (including any VOC or other gaseous emissions); 

• An assessment of exposure or risk associated with ingredient handling, product use, and disposal in relation to established mitigation and management 
processes;

• HealthRate level that reflects risks associated with the product in-use.

It is not intended to assess:

i. substances used or created during the manufacturing process unless they remain in the final product; or 

ii. substances created after the product is delivered for end use (e.g., if the product unusually degrades, combusts or otherwise changes chemical 
composition). 

GGT PhDs are only issued to products that have passed GGT Standards’ certification requirements. The Level of Assessment (BronzeHEALTH, SilverHEALTH 
GoldHEALTH or PlatinumHEALTH) rating  relates ONLY to in use risk assessment based on GGT Standard Sustainability Assessment Criteria 3, and is declared 
separately to the overall Bronze, Silver Gold or Platinum Green Tag Certification Mark Tier Levels.

1.2 Preparing an PHD

GGT PhDs are prepared using Hazard Classifications from the UN Globally Harmonised System of Classification and Labelling of Chemicals (GHS) and  as an 
outcome of a successful Application for Certification. Assessments are undertaken by GGT Qualified Exemplar Global Lead Auditors and subsequently accepted for 
Certification by the GGT Program Director (also a Qualified Exemplar Global Lead Auditor) under the GGT International Standard v4.0, Personal Products Standard 
v1.0, and Cleaning Products Standard v1.0 and above Program Rules.

1.3 External Peer Review

Every GGT PhD is independently peer reviewed by an external Consultant Toxicologist and Member of the Australian College of Toxicology &Risk Assessment.

2.0 Declaration of Ingredients

Where a manufacturer wishes recognition under a rating program that requires transparency of ingredients such as LEED v4.0, Living Building Challenge, Estidama 
etc., the following information is declared from audit:

Global GreenTag International Pty Ltd (Global GreenTag) is not a medical professional organisation. Global GreenTag does not purport to provide medical advice, and makes no warranty, 
representation, or guarantee regarding the declaration that it provides in relation to any allergies, chemical sensitivities or any other medical condition, nor does Global GreenTag assume any 
liability whatsoever arising out of the application or use of any product or piece of equipment that has been chemically assessed by Global GreenTag. 

The chemical assessments carried out provide transparent information peer reviewed by a consultant toxicologist regarding the chemical make-up and ingredients of certain materials and 
products, but such assessments are not to be taken as any form of medical assessment or health advice and are not targeted towards providing specific solutions to allergenic conditions 
or any other type of medical concerns.  

Users must carry out their own investigations if they are concerned about specific medical conditions and the impact of certain products or ingredients in relation to specific medical concerns.  

Global GreenTag takes no responsibility and is not liable in any way with respect to any medical or health issues arising from a person’s use of materials or products that have been chemically 
assessed by Global GreenTag. Global GreenTag shall not be liable for any direct, indirect, punitive, incidental, special or consequential damages to property or life whatsoever, arising out of 
or connected with the use or misuse of any materials or products that have been assessed by Global GreenTag. 

 

Colour Ingredient Name

Green Ideal- Low 
No Comment required

Yellow Medium to Low
No Comment, or ‘Issue of Concern’ required depending on % of ingredient.

Orange Moderate 
‘Issue of Concern’.

Red Problematic (Red):  Target for Phase 
‘Red Light’ Comment.

Grey Uncategorised 
Not able to be categorised due to lack of toxicity impact information.

Black Banned Ingredients  
POPs, SVHCs plus a  wide range of compounds depending on specific Standard requirements

2

Ingredient Name
GHS, IARC
and Endocrine
Category

Ingredient 
Assessment 
(Raw)

Whole Of Life
Assessment

In Use Health
Assessment Comment

Function: Structural steel

Steel None 100%

Tianjin Yuantai Derun Pipe Manu-
facturing Group Co., Ltd fold and 
fabricate steels purchased from 
third party steel manufacturers.

This declaration is valid for the following steel grades:

• Chinese grade low carbon steels: Q195 and Q215A/B.
• Chinese grade mild steels Q235GJB/C/D, Q345GJC/D/E, Q345B & Q345GJB, Q390GJC/D/E, Q460GJE/D/E.
• Chinese grade low alloy steels Q420GJC/D/E and Q460GJE/D/E.
• EN-grade mild steels S235JRH/JOH/J2H, S275JRH/JOH/J2H,S275NH and S355JRH/JOH/J2H, S355NH.
• Japanese Grade mild steels SS490 and SS400
• American grade mild steels A500GA/GB, A500GC, A501GR.A and A501 GR.B.
• EN-grade low alloy steels S420JOH andS460NH/S460JOH.













Certificate No.：SDCB19S10021R0M

This is to certify that

  Tianjin Yuantai Derun Pipe Manufacturing Group Co.,Ltd.

                         Organization Code:  911200005503823816

Registration Add.:

 Certication Add.:

is in conformity with:

GB/T 28001-2011/OHSAS 18001:2007

 Production and sales of square rectangular pipe and hot 
galvanized pipe

Issue Date: 2019-03-15 Expiry Date: 2021-03-11

Registration No.: SDCB-2019-0030

2019-03-15

This certificate is covering the following scope:

   OCCUPATIONAL HEALTH AND SAFETY

GB/T 28001

 MANAGEMENT SYSTEM CERTIFICATE

 
Daqiuzhuang Industrial Zone, Jinghai District, Tianjin City, 
P.R.China

Daqiuzhuang Industrial Zone, Tianjin , P.R.China

Shandong ChengBiao Certification Technology Co.,Ltd.
Registration Add:Room 407 Jiaxin Business Building, No.154,Huayuan 

Road,Licheng District,Jinan City, Shandong,P.R. China
Website:Http://www.sdcbrz.com



Certificate No.：SDCB19E20023R0M

This is to certify that

 Tianjin Yuantai Derun Pipe Manufacturing Group Co.,Ltd.

Organization Code:  911200005503823816

 Registration Add.:

Certication Add.:

is in conformity with:

GB/T 24001-2016/ISO 14001:2015

 Sales of square rectangular pipe and hot galvanized pipe

Issue Date:  2019-03-15 Expiry Date:  2022-03-14

Registration No.:  SDCB-2019-0030

2019-03-15

This certificate is covering the following scope:

 ENVIRONMENTAL MANAGEMENT

GB/T 24001

SYSTEM CERTIFICATE

Daqiuzhuang Industrial Zone, Jinghai District, Tianjin City, 
P.R.China

Daqiuzhuang Industrial Zone, Tianjin , P.R.China

Shandong ChengBiao Certification Technology Co.,Ltd.
Registration Add:Room 407 Jiaxin Business Building, No.154,Huayuan 

Road,Licheng District,Jinan City, Shandong,P.R. China
Website:Http://www.sdcbrz.com



Project List In Recent 3 Years
Product Project Name Fabricator or

EPC Qty Ton YEAR

HOLLOW
SECTION

DUBAI HILL
PROJECT ASSENT 4200 2018

Product Project Name Fabricator or
EPC Qty Ton YEAR

HOLLOW
SECTION DUBAI EXPO 2020 CLEVELAND

BRIDGE 5500 2018/2019



Product Project Name Fabricator or
EPC Qty Ton YEAR

HOLLOW
SECTION KUWAIT AIRPORT LIMAK 11000 2018/2019

Product Project Name Fabricator or
EPC Qty Ton YEAR

HOLLOW
SECTION

SINGAPORE
GOOGLE BUILDING EVERSENDAI 5000 2018/2019



Product Project Name Fabricator or
EPC Qty Ton YEAR

HOLLOW
SECTION EGYPT CAIRO CBD CSCEC 1500 2019/2020

Product Project Name Fabricator or
EPC Qty Ton YEAR

GI HOLLOW
SECTION

EGYPT GREEN
HOUSE PROJECT SINOMACH 75000 2017/2018



Product Project Name Fabricator or
EPC Qty Ton YEAR

HOLLOW
SECTION

Kuwait AL SHAHEED
PARK AL HANI 5500 2020/2021
























	
	证书编号
	英文企业名称
	组织机构代码
	英文注册地址
	英文审核范围
	英文注册日期
	英文注册到期
	英文下次审核日期
	英文下次审核日期1
	二维码

	Quality_Manual.pdf
	Chapter 0.1 Company Introduction
	Chapter 0.2 Order of Issuance
	Chapter 0.3 Letter of Appointment of Management Re
	Chapter 0.4 Quality Policy and Objectives
	Chapter 0.5 Management of the Quality Manual
	Chapter 0.6 Revision Control Sheet of the Quality 
	Chapter 0.7 Organizational Chart of the Quality Ma
	Chapter 0.8 Process Responsibility Form of the Qua
	Chapter 1. Scope
	Chapter 2. Normative References
	Chapter 3. Terms and Definitions
	Chapter 4. Quality Management System
	Section 1.  4.1 General requirements
	Section 2.  4.2 Documentation requirements
	4.2.1 General 
	4.2.2 Quality manual
	4.2.3 Document control procedures
	4.2.4 Record control procedures
	Chapter 5. Management Responsibilities
	5.1 Management commitment
	5.2 Customer focus
	5.3 Quality policy
	5.4 Planning
	5.5 Responsibility, authority and communication
	-- General Manager
	-- Office
	-- Supply & Sale Department
	-- Production Technology Department
	5.6 Management Review Control Procedures
	Chapter 6. Resource Management
	Section 1.  6.1 Provision of resources
	Section 2.  6.2 Human resource control procedures
	Section 3.  6.3/6.4 Infrastructures and work envir
	Chapter 7. Product Realization
	Section 1.  7.1 Planning of product realization
	Section 2.  7.2 Customer-related process control p
	Section 3.  7.4 Purchasing process control procedu
	Section 4.  7.5 Production and service provision c
	Section 5.  7.6 Monitoring and measuring equipment
	Chapter 8.0 Measurement, Analysis and Improvement
	Section 1.  8.1 General
	Section 2.  8.2 Monitoring and measurement
	8.2.1 Customer satisfaction measurement procedures
	8.2.2 Internal audit control procedures
	8.2.3/4 Process and product monitoring and measure
	Section 3.  8.3 Nonconforming product control proc
	Section 4.  8.4 Data analysis control procedures
	Section 5.  8.5 Improvement control procedures

	
	Type
	Amount
	The name of Manufacturer
	The age of the equipment




